Fundamentals of Economics

Homework, 28 September 2000

Fiscal and Monetary Policies

Name:

Multiple Choice. Encircle the correct answer

1. You are hired as a consultant by the Council of Economics Advisers by the Erap administration.  The Chairperson tells you that she believes that the current unemployment rate is too high. The unemployment rate can be reduced if aggregate output increasees. She wants to know what policy to pursue to increase aggregate output by P300 billion. The best estimate that she has for the MPC is 0.8 Which of the following policies would you recommend?

a) To increase government spending by P60 billion

b) To increase government spending by P50 billion

c) To cut taxes by P60 billion

d) To cut taxes by P60 billion and increase govermnment spending by P60 billion.

2. You are hired as a consultant by the Council of Economics Advisers by the Erap administration.  The Chairperson tells you that she believes that the current unemployment rate is too high. The unemployment rate can be reduced if aggregate output increasees. She wants to know what policy to pursue to increase aggregate output by P300 billion. The best estimate that she has for the MPC is 0.8 Which of the following policies would you recommend?

a) To increase government spending by P75 billion

b) To reduce taxes by P75 billion

c) To cut taxes by P75 billion and increase government spending by P75 billion

d) To reduce the budget deficit by P75 billion

3. You are hired as a consultant by the Council of Economics Advisers by the Erap administration.  The Chairperson tells you that she believes that the current unemployment rate is too high. The unemployment rate can be reduced if aggregate output increasees. She wants to know what policy to pursue to increase aggregate output by P300 billion. The best estimate that she has for the MPC is 0.8 Which of the following policies would you recommend?

a) To increase government spending by P300 billion and reduce taxes by P300 billion

b) To reduce government spending by P300 billion and to increase taxes by P300 billion

c) To increase both government spending and taxes by P300 billion.

d) To decrease both government spending and taxes by P300 billion.

4. Assume that taxes depend on income. The MPC is 0.5 and the tax rate t is 0.2. If government spending increases by P10 billion, the equilibrium level of output will increase by

a)
P16.7 billion



b) P25 billion

c)
P50 billion



d) P100 billion

5. Assume that taxes depend on income. The MPC is 0.8 and the tax rate t is 0.5. An increase in taxes of P10 billion will decrease equilibrium income by

a) P16 billion



b) P13.3 billion

c)
P7.5 billion



d) P6.7 billion

6.
Diana has P10,000 at a bingo game. She deposits her P10,000 winnings into a money market fund so that she can use the money next year to pay her tuition. This is an example of moneyt serving as

a) a unit of account

b) a store of value

c) a medium of exchange

d) an investment good

7. 
Petals and Branches, a wholesale supplier of real and silk flowers, has 200 different products in inventory. Petals reports that the inventory is worth P400,000. This is an example of using money as

a) a medium of exchange

b) a store of value

c) a standard of deferred payment

d) a unit of account

8. 
The difference between a bank’s actual reserves and its required reserves is its

a) excess reserves

b) required reserve ratio

c) profit margin

d) net worth

9.
Refer to Table 1. The required reserve ratio is 10%. If the Bangko ng Bayan is meeting its reserve requirement and has no excess reserves, its reserves equal

a) P40




b) P50

c) 
P80




d) P90

Table 1. T-Account for Bangko ng Bayan

	Assets
	Liabilities and Net Worth

	Reserves

Loans

Total
	Deposits                           P400

Net Worth                         50

Total                                 450


10.
The required reserve ratio is 10%. IF the Bangko ng Bayan is meeting its reserve requirement and has no excess reserves, its loans equal

a) P360




b) P400

c) 
P410




d) P450

11. 
Tipid Bank has P500 million in deposits. Tipid Bank is meeting its reserve requirement and has no excess reserves. It has P125 million in reserves. Tipid Bank faces a required reserve ratio of 

a) 
1.25%




b) 4%

c) 
20%




d) 25%

12.
The Bangkong Singurado has actual reserves of P100 million amd required reserves of P75 million. Its excess r

